
Číslo bodu Č t e n í   n a   l a t i 
Nadmořská 

výška 

horizontu 

stroje 

N a d m o ř s k á   v ý š k a 
b o d u 

P o z n á m k a 
přesta- 
vového 

bočného 
vzad 

+ 

vpřed 

– 

bočně 

– 
přestavového 

určeného 
bočně 

              

101  0,816      20 H101 = 174,519 m 
   1,521     20  
  0,729      23 hTAM = ∑z - ∑p = 
   1,418     23 = 3,751 – 5,816 = -2,065 m 
  1,112      15  
   1,613     15 hZPĚT = ∑z - ∑p = 
  1,094      25 = 4,977 – 2,907 = 2,070 m 

106   1,264     25  
 ∑ 3,751 5,816     166 Δ = |hTAM|– |hZPĚT| =  
         = 2,065 – 2,070 = -0,005 m 
          

106  1,423      35 ΔM = 40 · √𝑅 = 
   1,063     35 = 40 · √0,173  =̇ 0,017 m       
  1,844      30  
   1,081     30 |Δ| ≤ ΔM 
  1,710      25  

101   0,763     25 
hØ = 

hTAM − hZPĚT

2
=  ∑ 4,977 2,907      180 

                  
= 

−2,065 − 2,070

2
 = -2,068 m 

                    

                     

                  H106 = H101 + hØ = 

                  = 174,519 – 2,068 = 172,451 m 

                   

                   

                  Přístroj: Sokkia C330, v.č. 10320 

                  Datum: 4. 6. 2012 

                  Lokalita: Fsv, ČVUT 

                  Měřil: Kratochvíl 

                  Zapsal: Nováková 

                  Vypočetl: Kratochvíl 

                  Kontroloval: Nováková 

                   

                   

                   

                   

                   

                   

                      

                      

           

                      

                      

           

                      

                      

                      

Geodézie 3.39 - 1971 RSC G08 g1.00 - 2001      Vytiskla Royal Star Company, Resirie - Exapolis 



 


